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1 HE BE H K iE = 2/ 6 31. 84 8#% ( 0.64)
2 P& fn 1% H 53 2/ 7 32.26 7#%  ( 0.90)
3 AR &TY H K& =2 2/ 5 33.29 65% ( 0.62)
4 JEH il )RS =3 2/ 4 33.55 5#%  ( 0.59)
5 mRiE e KRS =Y 2/ 3 33.73 6%  ( 0.63)
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8 AtEHE # Ak Ak =2 2/ 9 37.48 L% ( 0.70)
9 fhiA HFn 7 [ =2 2/ 1 37.91 ( 0.58)
10 A&k 285 il o =2 ] 52 1/ 5 38.32 L% ( 0.58)
10 il KA ERe 52 1/ 6 38.32 ( 0.66)
12 AREAAE R A g =3 1/ 3 39.16 ( 0.74)
13 EW mekst e =) 1/ 8 39. 71 ( 0.69)
14 &H F REI A F4iE =3 1/ 2 39.83 ( 0.86)
15 —jH BR% RN =3 1/ 7 41. 71 ( )
16 NfE  EM VA = 1/ 1 43. 66 ( 0.66)
17 AR ZEE 5% =) 1/ 9 49. 52 ( 0.79)
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